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Abstract. 
A class of derivative-free methods without memory for approximating a simple zero of a nonlinear equation is presented. The proposed class uses four function evaluations per iteration with convergence order eight. Therefore, it is an optimal three-step scheme without memory based on Kung-Traub conjecture. Moreover, the proposed class has an accelerator parameter with the property that it can increase the convergence rate from eight to twelve without any new functional evaluations. Thus, we construct a with memory method that increases considerably efficiency index from 
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. Illustrations are also included to support the underlying theory.


1. Introduction
The first attempts for classifying iterative root-finding methods were done by Traub [1]. He divided iterative methods for finding zeros of a function into two sets: one-point and multipoint methods. There is a fact about how to create a new method. As Traub investigated in his book [1], and Kung and Traub mentioned in [2], construction of one-point methods is not a useful task. In other words, to construct an optimal one-point method with convergence order 
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 functional evaluations, while for construction an optimal method without memory having convergence order 
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 function evaluations are required.
To be more precise, constructing an optimal one-point method with eighth-order convergence needs eight function evaluations, while constructing an optimal three-point method without memory having the same convergence order requires four functional evaluations. As a result, many researchers have paid much attention to construct optimal multipoint iterations without memory based on the unproved conjecture due to Kung and Traub: any multipoint iteration without memory using 
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 function evaluations can reach the optimal order 
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.
This work follows two main goals: frst developing a new optimal three-step derivative-free class of methods without memory and second developing the proposed class to methods with memory. In this way, it reaches convergence order 12 without any new functional evaluations. Because of the derivative-free property of the proposed class, it can be used for finding zeros of not only smooth functions but also nonsmooth ones. Moreover, as we pointed out above we can reach the convergence order 12 using the same functional evaluations (to three-step without memory iterations) and, therefore, increasing 
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 convergence order is the other aspect and contribution of this work.
Note that in most test problems for nonlinear equations computing derivatives are an easy exercise. However, for some practical problems computing the derivative might be a cumbersome task and we have to relay on methods free of derivatives. For further reading on this topic, one may refer to [3–6].
The paper is organized as follows. First, a new without memory family of optimal order eight, consuming four function evaluations per iteration, is proposed by using two weight functions in Section 2. A different way to compute the order of convergence for iterative methods that use divided differences instead of derivatives is presented in Section 3, when we derive a method with memory. The significant increase of convergence speed is achieved without additional function evaluations, which is the main advantage of such methods. Section 4 is devoted to numerical results connected to the order of the methods with and without memory. And finally, concluding remarks will be drawn in Section 5.
2. Construction of a New Three-Step Class
Let the scalar function 
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. In this section, we start with the three-step scheme:
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, is the iteration indicator. The order of convergence for (1) is eight but its computational efficiency is low. We substitute derivatives in all three steps by suitable approximations that use available data; thus we introduce the following approximations:
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        in the first, second, and third steps of (1), where 
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 are weight functions. The following iterative family of three-step methods is obtained:
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        In the following theorem, we state suitable conditions for deriving a new optimal class without memory according to the Kung and Traub conjecture [2] (also known as K-T hypothesis).
Theorem 1.  Let 
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				
				.
			

		
	

						Thus,
							
	
 		
 			
				(
				1
				2
				)
			
 		
	

	
		
			
				ℎ
				
				𝑢
			

			

				𝑘
			

			
				,
				𝑣
			

			

				𝑘
			

			
				
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				=
				
				1
				+
				𝛽
				𝑓
			

			

				
			

			
				
				𝑐
				(
				𝛼
				)
			

			

				2
			

			

				𝑒
			

			
				2
				𝑘
			

			
				+
				
				−
				
				2
				+
				𝛽
				𝑓
			

			

				
			

			
				
				(
				𝛼
				)
				2
				+
				𝛽
				𝑓
			

			

				
			

			
				𝑐
				(
				𝛼
				)
				
				
			

			
				2
				2
			

			
				+
				
				1
				+
				𝛽
				𝑓
			

			

				
			

			
				(
				𝛼
				)
				
				
				2
				+
				𝛽
				𝑓
			

			

				
			

			
				
				𝑐
				(
				𝛼
				)
			

			

				3
			

			
				
				×
				𝑒
			

			
				3
				𝑘
			

			
				
				𝑒
				+
				⋯
				+
				𝑂
			

			
				9
				𝑘
			

			
				
				,
				𝑓
				
				𝑤
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				,
				𝑧
			

			

				𝑘
			

			
				
				=
				𝑓
			

			

				
			

			
				(
				𝛼
				)
				𝑐
			

			

				2
			

			
				+
				𝑓
			

			

				
			

			
				
				(
				𝛼
				)
				1
				+
				𝛽
				𝑓
			

			

				
			

			
				
				𝑐
				(
				𝛼
				)
			

			

				3
			

			

				𝑒
			

			

				𝑘
			

			
				+
				𝑓
			

			

				
			

			
				
				
				(
				𝛼
				)
				1
				+
				2
				𝛽
				𝑓
			

			

				
			

			
				
				𝑐
				(
				𝛼
				)
			

			

				2
			

			

				𝑐
			

			

				3
			

			
				+
				
				1
				+
				𝛽
				𝑓
			

			

				
			

			
				
				(
				𝛼
				)
			

			

				2
			

			

				𝑐
			

			

				4
			

			
				
				𝑒
			

			
				2
				𝑘
			

			
				
				𝑒
				+
				⋯
				+
				𝑂
			

			
				9
				𝑘
			

			
				
				.
			

		
	

						Therefore, we attain
							
	
 		
 			
				(
				1
				3
				)
			
 		
	

	
		
			
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑧
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				
				
				𝑤
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				,
				𝑧
			

			

				𝑘
			

			
				𝑧
				
				
			

			

				𝑘
			

			
				−
				𝑦
			

			

				𝑘
			

			
				
				
				=
				−
				1
				+
				𝛽
				𝑓
			

			

				
			

			
				
				(
				𝛼
				)
			

			

				2
			

			

				𝑐
			

			

				2
			

			

				𝑐
			

			

				3
			

			

				𝑒
			

			
				4
				𝑘
			

			
				
				𝑒
				+
				⋯
				+
				𝑂
			

			
				9
				𝑘
			

			
				
				.
			

		
	

						Finally, according to the above analysis, the general error equation is given by
							
	
 		
 			
				(
				1
				4
				)
			
 		
	

	
		
			

				𝑒
			

			
				𝑘
				+
				1
			

			
				=
				𝑒
			

			
				𝑘
				,
				𝑧
			

			
				
				𝑠
				−
				𝑊
			

			

				𝑘
			

			
				
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑧
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				
				
				𝑤
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				,
				𝑧
			

			

				𝑘
			

			
				𝑧
				
				
			

			

				𝑘
			

			
				−
				𝑦
			

			

				𝑘
			

			
				
				=
				
				1
				+
				𝛽
				𝑓
			

			

				
			

			
				
				(
				𝛼
				)
			

			

				4
			

			

				𝑐
			

			
				2
				2
			

			

				𝑐
			

			

				3
			

			
				×
				
				
				9
				+
				𝛽
				𝑓
			

			

				
			

			
				
				(
				𝛼
				)
				7
				+
				𝛽
				𝑓
			

			

				
			

			
				𝑐
				(
				𝛼
				)
				
				
			

			
				3
				2
			

			
				+
				2
				𝑐
			

			

				2
			

			

				𝑐
			

			

				3
			

			
				−
				𝑐
			

			

				4
			

			
				
				𝑒
			

			
				8
				𝑘
			

			
				
				𝑒
				+
				𝑂
			

			
				9
				𝑘
			

			
				
				,
			

		
	

						so that the proof of the theorem is finished.
We provide some specific weight functions that satisfy the conditions of Theorem 1 as follows:
						
	
 		
 			
				(
				1
				5
				)
			
 		
	

	
		
			

				𝐻
			

			

				1
			

			
				
				𝑢
			

			

				𝑘
			

			
				,
				𝑣
			

			

				𝑘
			

			
				
				=
				1
				+
				𝑢
			

			

				𝑘
			

			
				+
				2
				𝑢
			

			

				𝑘
			

			

				𝑣
			

			

				𝑘
			

			
				+
				𝑢
			

			
				2
				𝑘
			

			
				,
				𝐻
			

			

				2
			

			
				
				𝑢
			

			

				𝑘
			

			
				,
				𝑣
			

			

				𝑘
			

			
				
				=
				1
			

			
				
			
			
				1
				−
				𝑢
			

			

				𝑘
			

			
				−
				2
				𝑢
			

			

				𝑘
			

			

				𝑣
			

			

				𝑘
			

			
				,
				𝑊
			

			

				1
			

			
				
				𝑠
			

			

				𝑘
			

			
				
				
				𝑠
				=
				c
				o
				s
			

			

				𝑘
			

			
				
				
				𝑠
				+
				s
				i
				n
			

			

				𝑘
			

			
				
				,
				𝑊
			

			

				2
			

			
				
				𝑠
			

			

				𝑘
			

			
				
				=
				1
			

			
				
			
			
				1
				−
				𝑠
			

			

				𝑘
			

			
				,
				𝑊
			

			

				3
			

			
				
				𝑠
			

			

				𝑘
			

			
				
				=
				1
				+
				𝑠
			

			

				𝑘
			

			
				,
				𝑊
			

			

				4
			

			
				
				𝑠
			

			

				𝑘
			

			
				
				=
				𝑒
			

			

				𝑠
			

			

				𝑘
			

			

				.
			

		
	

We consider these weight functions in, without and with memory methods, (3) and (18) in the forthcoming sections.
There are some measures for comparing various iterative techniques. Traub [1] introduced the informational efficiency and efficiency index, which can be expressed in terms of the order (
	
		
			

				𝑟
			

		
	
) of the method and the number of function (and derivative) evaluations (
	
		
			

				𝜌
			

		
	
). In fact, the efficiency index (or computational efficiency) is given by 
	
		
			
				𝐸
				=
				𝑟
			

			
				1
				/
				𝜌
			

		
	
.
Clearly, the efficiency index of the proposed optimal class of method is 
	
		
			

				8
			

			
				1
				/
				4
			

			
				≈
				1
				.
				6
				8
				2
			

		
	
 which is optimal in the sense of K-T hypothesis and is higher than two- or one-step methods without memory.
It is worth emphasizing that the maximal order of convergence is not the only goal in constructing root-finding methods and, consequently, the ultimate measure of efficiency of the designed method. Complexity of the formulae involved, often called combinatorial cost, makes another important parameter, which should be taken into account. Hence, we wish to construct a new method with memory possessing a high order 12 requiring only 4 functional evaluations (just like (3)).






In the next section, we will modify the proposed method and introduce a new method. We use an accelerator parameter to increase the order of convergence significantly.
3. Construction of a Method with Memory
Error equation (14) indicates that the order of convergence for class (3) is equal to eight. This section is concerned with extracting an efficiency with memory method from (3) since its error equation contains the parameter 
	
		
			

				𝛽
			

		
	
 which can be approximated in such a way that increases the local order of convergence.
We set 
	
		
			
				𝛽
				=
				𝛽
			

			

				𝑘
			

		
	
 as the iteration proceeds by the formula 
	
		
			

				𝛽
			

			

				𝑘
			

			
				=
				−
				1
				/
			

			
				
			
			

				𝑓
			

			

				
			

			
				(
				𝛼
				)
			

		
	
 for 
	
		
			
				𝑘
				=
				1
				,
				2
				,
				…
			

		
	
, where 
	
		
			
				
			
			

				𝑓
			

			

				
			

			
				(
				𝛼
				)
			

		
	
 is an approximation of 
	
		
			

				𝑓
			

			

				
			

			
				(
				𝛼
				)
			

		
	
. We have a method via the following forms of 
	
		
			

				𝛽
			

			

				𝑘
			

		
	
:
						
	
 		
 			
				(
				1
				6
				)
			
 		
	

	
		
			

				𝛽
			

			

				𝑘
			

			
				1
				=
				−
			

			
				
			
			
				
			
			

				𝑓
			

			

				
			

			
				(
				1
				𝛼
				)
				=
				−
			

			
				
			
			

				𝑁
			

			
				
				4
			

			
				
				𝑥
			

			

				𝑘
			

			
				
				.
			

		
	

The key idea that provides the order acceleration lies in a special form of the error relation and a convenient choice of a free parameter. We define a self-accelerating parameter, which is calculated during the iterative process using Newton’s interpolating polynomial.
Hence, we consider Newton’s interpolation as the method for approximating 
	
		
			

				𝑓
			

			

				
			

			
				(
				𝛼
				)
			

		
	
, where 
	
		
			

				𝑁
			

			

				4
			

			
				(
				𝑡
				)
			

		
	
 is Newton’s interpolation polynomial of fourth degree, set through five available approximations 
	
		
			

				𝑥
			

			

				𝑘
			

			
				,
				𝑧
			

			
				𝑘
				−
				1
			

			
				,
				𝑦
			

			
				𝑘
				−
				1
			

			
				,
				𝑤
			

			
				𝑘
				−
				1
			

			
				,
				𝑥
			

			
				𝑘
				−
				1
			

		
	
 as follows: 
						
	
 		
 			
				(
				1
				7
				)
			
 		
	

	
		
			

				𝑁
			

			
				
				4
			

			
				
				𝑥
			

			

				𝑘
			

			
				
				=
				
				𝑑
			

			
				
			
			
				𝑁
				𝑑
				𝑡
			

			

				4
			

			
				
				(
				𝑡
				)
			

			
				𝑡
				=
				𝑥
			

			

				𝑘
			

			
				=
				
				𝑑
			

			
				
			
			
				
				𝑓
				
				𝑥
				𝑑
				𝑡
			

			

				𝑘
			

			
				
				
				𝑥
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑧
			

			
				𝑘
				−
				1
			

			
				
				
				𝑡
				−
				𝑥
			

			

				𝑘
			

			
				
				
				𝑥
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑧
			

			
				𝑘
				−
				1
			

			
				,
				𝑦
			

			
				𝑘
				−
				1
			

			
				
				
				𝑡
				−
				𝑥
			

			

				𝑘
			

			
				
				×
				
				𝑡
				−
				𝑧
			

			
				𝑘
				−
				1
			

			
				
				
				𝑥
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑧
			

			
				𝑘
				−
				1
			

			
				,
				𝑦
			

			
				𝑘
				−
				1
			

			
				,
				𝑥
			

			
				𝑘
				−
				1
			

			
				
				
				𝑡
				−
				𝑥
			

			

				𝑘
			

			
				
				×
				
				𝑡
				−
				𝑧
			

			
				𝑘
				−
				1
			

			
				
				
				𝑡
				−
				𝑦
			

			
				𝑘
				−
				1
			

			
				
				
				𝑥
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑧
			

			
				𝑘
				−
				1
			

			
				,
				𝑦
			

			
				𝑘
				−
				1
			

			
				,
				𝑥
			

			
				𝑘
				−
				1
			

			
				,
				𝑤
			

			
				𝑘
				−
				1
			

			
				
				×
				
				𝑡
				−
				𝑥
			

			

				𝑘
			

			
				
				
				𝑡
				−
				𝑧
			

			
				𝑘
				−
				1
			

			
				
				
				𝑡
				−
				𝑦
			

			
				𝑘
				−
				1
			

			
				
				×
				
				𝑡
				−
				𝑥
			

			
				𝑘
				−
				1
			

			
				
				
				
			

			
				𝑡
				=
				𝑥
			

			

				𝑘
			

			
				
				𝑥
				=
				𝑓
			

			

				𝑘
			

			
				,
				𝑧
			

			
				𝑘
				−
				1
			

			
				
				
				𝑥
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑧
			

			
				𝑘
				−
				1
			

			
				,
				𝑦
			

			
				𝑘
				−
				1
			

			
				𝑥
				
				
			

			

				𝑘
			

			
				−
				𝑧
			

			
				𝑘
				−
				1
			

			
				
				
				𝑥
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑧
			

			
				𝑘
				−
				1
			

			
				,
				𝑦
			

			
				𝑘
				−
				1
			

			
				,
				𝑥
			

			
				𝑘
				−
				1
			

			
				𝑥
				
				
			

			

				𝑘
			

			
				−
				𝑧
			

			
				𝑘
				−
				1
			

			
				𝑥
				
				
			

			

				𝑘
			

			
				−
				𝑦
			

			
				𝑘
				−
				1
			

			
				
				
				𝑥
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑧
			

			
				𝑘
				−
				1
			

			
				,
				𝑦
			

			
				𝑘
				−
				1
			

			
				,
				𝑥
			

			
				𝑘
				−
				1
			

			
				,
				𝑤
			

			
				𝑘
				−
				1
			

			
				𝑥
				
				
			

			

				𝑘
			

			
				−
				𝑧
			

			
				𝑘
				−
				1
			

			
				
				×
				
				𝑥
			

			

				𝑘
			

			
				−
				𝑦
			

			
				𝑘
				−
				1
			

			
				𝑥
				
				
			

			

				𝑘
			

			
				−
				𝑥
			

			
				𝑘
				−
				1
			

			
				
				.
			

		
	


        Here, the with memory development of (3) can be presented as follows:
						
	
 		
 			
				(
				1
				8
				)
			
 		
	

	
		
			

				𝑦
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑥
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑤
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				+
				𝛽
			

			

				𝑘
			

			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑧
			

			

				𝑘
			

			
				=
				𝑦
			

			

				𝑘
			

			
				
				𝑢
				−
				𝐻
			

			

				𝑘
			

			
				,
				𝑣
			

			

				𝑘
			

			
				
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑢
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑣
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑥
			

			
				𝑘
				+
				1
			

			
				=
				𝑧
			

			

				𝑘
			

			
				
				𝑠
				−
				𝑊
			

			

				𝑘
			

			
				
				×
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑧
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				
				
				𝑤
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				,
				𝑧
			

			

				𝑘
			

			
				𝑧
				
				
			

			

				𝑘
			

			
				−
				𝑦
			

			

				𝑘
			

			
				
				𝑠
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				.
			

		
	

We attempt to prove that the method with memory (18) has convergence order twelve provided that we use accelerator 
	
		
			

				𝛽
			

			

				𝑘
			

		
	
 as in (16). It should be remarked that we have applied the Herzberger’s matrix method [7].
Theorem 2.  If an initial approximation 
	
		
			

				𝑥
			

			

				0
			

		
	
 is sufficiently close to the zero 
	
		
			

				𝛼
			

		
	
 of 
	
		
			
				𝑓
				(
				𝑥
				)
			

		
	
 and the parameter 
	
		
			

				𝛽
			

			

				𝑘
			

		
	
 in the iterative scheme (18) is recursively calculated by the forms given in (16), then the order of convergence is twelve.
Proof. We will use Herzberger’s matrix method to determine the order of convergence. Note that the lower bound of order for a single-step 
	
		
			

				𝑠
			

		
	
-point method 
	
		
			

				𝑥
			

			

				𝑘
			

			
				=
				𝐺
				(
				𝑥
			

			
				𝑘
				−
				1
			

			
				,
				𝑥
			

			
				𝑘
				−
				2
			

			
				,
				…
				,
				𝑥
			

			
				𝑘
				−
				𝑠
			

			

				)
			

		
	
 is the spectral radius of a matrix 
	
		
			

				𝑀
			

			
				(
				𝑠
				)
			

			
				=
				(
				𝑚
			

			
				𝑖
				𝑗
			

			

				)
			

		
	
, associated to the method with elements: 
							
	
 		
 			
				(
				1
				9
				)
			
 		
	

	
		
			

				𝑚
			

			
				1
				,
				𝑗
			

			
				=
				a
				m
				o
				u
				n
				t
				o
				f
				i
				n
				f
				o
				r
				m
				a
				t
				i
				o
				n
				r
				e
				q
				u
				i
				r
				e
				d
				a
				t
				p
				o
				i
				n
				t
				𝑥
			

			
				𝑘
				−
				𝑗
			

			
				𝑚
				𝑗
				=
				1
				,
				2
				,
				…
				,
				𝑠
				,
			

			
				𝑖
				,
				𝑖
				−
				1
			

			
				𝑚
				=
				1
				(
				𝑖
				=
				2
				,
				3
				,
				…
				,
				𝑠
				)
				,
			

			
				𝑖
				,
				𝑗
			

			
				=
				0
				,
				o
				t
				h
				e
				r
				w
				i
				s
				e
				.
			

		
	
On the other hand, the lower bound of order of an 
	
		
			

				𝑠
			

		
	
-step method 
	
		
			
				𝐺
				=
				𝐺
			

			

				1
			

			
				∘
				𝐺
			

			

				2
			

			
				∘
				⋯
				∘
				𝐺
			

			

				𝑠
			

		
	
 is the spectral radius of the product of matrices 
	
		
			
				𝑀
				=
				𝑀
			

			

				1
			

			
				⋅
				𝑀
			

			

				2
			

			
				⋯
				𝑀
			

			

				𝑠
			

		
	
.We can express each approximation 
	
		
			

				𝑥
			

			
				𝑘
				+
				1
			

		
	
, 
	
		
			

				𝑧
			

			

				𝑘
			

		
	
, 
	
		
			

				𝑦
			

			

				𝑘
			

		
	
, and 
	
		
			

				𝑤
			

			

				𝑘
			

		
	
 as a function of available information 
	
		
			
				𝑓
				(
				𝑧
			

			

				𝑘
			

			

				)
			

		
	
, 
	
		
			
				𝑓
				(
				𝑦
			

			

				𝑘
			

			

				)
			

		
	
, 
	
		
			
				𝑓
				(
				𝑤
			

			

				𝑘
			

			

				)
			

		
	
, and 
	
		
			
				𝑓
				(
				𝑥
			

			

				𝑘
			

			

				)
			

		
	
 from the 
	
		
			

				𝑘
			

		
	
th iteration and 
	
		
			
				𝑓
				(
				𝑧
			

			
				𝑘
				−
				1
			

			

				)
			

		
	
, 
	
		
			
				𝑓
				(
				𝑦
			

			
				𝑘
				−
				1
			

			

				)
			

		
	
, 
	
		
			
				𝑓
				(
				𝑤
			

			
				𝑘
				−
				1
			

			

				)
			

		
	
, and 
	
		
			
				𝑓
				(
				𝑥
			

			
				𝑘
				−
				1
			

			

				)
			

		
	
 from the previous iteration, depending on the accelerating technique. Now, we determine the order of convergence for (18) applied for the calculation of 
	
		
			

				𝛽
			

			

				𝑘
			

		
	
.Method (N4). We use the following matrices to express informational dependence: 
							
	
 		
 			
				(
				2
				0
				)
			
 		
	

	
		
			

				𝑥
			

			
				𝑘
				+
				1
			

			
				=
				𝜑
			

			

				1
			

			
				
				𝑧
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				,
				𝑥
			

			

				𝑘
			

			
				,
				𝑧
			

			
				𝑘
				−
				1
			

			
				
				⟶
				𝑀
			

			

				1
			

			
				=
				⎡
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎣
				⎤
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎦
				,
				𝑧
				1
				1
				1
				1
				0
				1
				0
				0
				0
				0
				0
				1
				0
				0
				0
				0
				0
				1
				0
				0
				0
				0
				0
				1
				0
			

			

				𝑘
			

			
				=
				𝜑
			

			

				2
			

			
				
				𝑦
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				,
				𝑥
			

			

				𝑘
			

			
				,
				𝑧
			

			
				𝑘
				−
				1
			

			
				,
				𝑦
			

			
				𝑘
				−
				1
			

			
				
				⟶
				𝑀
			

			

				2
			

			
				=
				⎡
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎣
				⎤
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎦
				,
				𝑦
				1
				1
				1
				0
				0
				1
				0
				0
				0
				0
				0
				1
				0
				0
				0
				0
				0
				1
				0
				0
				0
				0
				0
				1
				0
			

			

				𝑘
			

			
				=
				𝜑
			

			

				3
			

			
				
				𝑤
			

			

				𝑘
			

			
				,
				𝑥
			

			

				𝑘
			

			
				,
				𝑧
			

			
				𝑘
				−
				1
			

			
				,
				𝑦
			

			
				𝑘
				−
				1
			

			
				,
				𝑤
			

			
				𝑘
				−
				1
			

			
				
				⟶
				𝑀
			

			

				3
			

			
				=
				⎡
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎣
				⎤
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎦
				,
				𝑤
				1
				1
				0
				0
				0
				1
				0
				0
				0
				0
				0
				1
				0
				0
				0
				0
				0
				1
				0
				0
				0
				0
				0
				1
				0
			

			

				𝑘
			

			
				=
				𝜑
			

			

				4
			

			
				
				𝑥
			

			

				𝑘
			

			
				,
				𝑧
			

			
				𝑘
				−
				1
			

			
				,
				𝑦
			

			
				𝑘
				−
				1
			

			
				,
				𝑤
			

			
				𝑘
				−
				1
			

			
				,
				𝑥
			

			
				𝑘
				−
				1
			

			
				
				⟶
				𝑀
			

			

				4
			

			
				=
				⎡
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎣
				⎤
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎦
				.
				1
				1
				1
				1
				0
				1
				0
				0
				0
				0
				0
				1
				0
				0
				0
				0
				0
				1
				0
				0
				0
				0
				0
				1
				0
			

		
	

          Hence, it is easy to derive 
							
	
 		
 			
				(
				2
				1
				)
			
 		
	

	
		
			

				𝑀
			

			
				(
				𝑁
				4
				)
			

			
				=
				𝑀
			

			

				1
			

			

				𝑀
			

			

				2
			

			

				𝑀
			

			

				3
			

			

				𝑀
			

			

				4
			

			
				=
				⎡
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎢
				⎣
				⎤
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎥
				⎦
				,
				8
				4
				4
				4
				4
				4
				2
				2
				2
				2
				2
				1
				1
				1
				1
				1
				1
				1
				1
				1
				1
				0
				0
				0
				0
			

		
	

						with the eigenvalues 
	
		
			
				{
				1
				2
				,
				0
				,
				0
				,
				0
				,
				0
				}
			

		
	
. Consequently, the order of the method with memory (18)-(N4) is at least twelve. The proof of Theorem 2 is finished.
Clearly, the proposed with memory scheme possesses a high computational efficiency index 
	
		
			
				1
				2
			

			
				1
				/
				4
			

			
				≈
				1
				.
				8
				6
				1
			

		
	
, which makes it interesting for practical problems.
4. Numerical Examples
In this section, we test our proposed methods and compare their results with some other methods of the same order of convergence. The errors 
	
		
			
				|
				𝑥
			

			

				𝑘
			

			
				−
				𝛼
				|
			

		
	
 denote approximations to the sought zeros, and 
	
		
			
				𝑎
				(
				−
				𝑏
				)
			

		
	
 stands for 
	
		
			
				𝑎
				×
				1
				0
			

			
				−
				𝑏
			

		
	
. Moreover, 
	
		
			
				c
				o
				c
			

		
	
 indicates computational order of convergence and is computed by
						
	
 		
 			
				(
				2
				2
				)
			
 		
	

	
		
			
				
				|
				|
				𝑓
				
				𝑥
				c
				o
				c
				=
				l
				o
				g
			

			

				𝑘
			

			
				
				
				𝑥
				/
				𝑓
			

			
				𝑘
				−
				1
			

			
				
				|
				|
				
			

			
				
			
			
				
				|
				|
				𝑓
				
				𝑥
				l
				o
				g
			

			
				𝑘
				−
				1
			

			
				
				
				𝑥
				/
				𝑓
			

			
				𝑘
				−
				2
			

			
				
				|
				|
				
				.
			

		
	

The calculated value coc estimates the theoretical order of convergence well when “pathological behavior” of the iterative method (for instance, slow convergence at the beginning of the implemented iterative method, “oscillating” behavior of approximations, etc.) does not exist.
We have used 1000-fixed floating point arithmetic so as to minimize the effect of round-off errors.
By using weight functions (15), we introduce some concrete methods based on the proposed class. Note that it is assumed that the initial estimate 
	
		
			

				𝛽
			

			

				0
			

		
	
 should be chosen before starting the iterative process and also 
	
		
			

				𝑥
			

			

				0
			

		
	
 is given suitably.
Concrete method 1:
						
	
 		
 			
				(
				2
				3
				)
			
 		
	

	
		
			

				𝑦
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑥
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑤
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				+
				𝛽
			

			

				𝑘
			

			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑧
			

			

				𝑘
			

			
				=
				𝑦
			

			

				𝑘
			

			
				−
				
				1
				+
				𝑢
			

			

				𝑘
			

			
				+
				2
				𝑢
			

			

				𝑘
			

			

				𝑣
			

			

				𝑘
			

			
				+
				𝑢
			

			
				2
				𝑘
			

			
				
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑢
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑣
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑥
			

			
				𝑘
				+
				1
			

			
				=
				𝑧
			

			

				𝑘
			

			
				−
				
				
				𝑠
				c
				o
				s
			

			

				𝑘
			

			
				
				
				𝑠
				+
				s
				i
				n
			

			

				𝑘
			

			
				×
				𝑓
				
				𝑧
				
				
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑧
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				
				
				𝑤
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				,
				𝑧
			

			

				𝑘
			

			
				𝑧
				
				
			

			

				𝑘
			

			
				−
				𝑦
			

			

				𝑘
			

			
				
				,
				𝑠
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				.
			

		
	

Concrete method 2:
						
	
 		
 			
				(
				2
				4
				)
			
 		
	

	
		
			

				𝑦
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑥
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑤
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				+
				𝛽
			

			

				𝑘
			

			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑧
			

			

				𝑘
			

			
				=
				𝑦
			

			

				𝑘
			

			
				−
				
				1
				+
				𝑢
			

			

				𝑘
			

			
				+
				2
				𝑢
			

			

				𝑘
			

			

				𝑣
			

			

				𝑘
			

			
				+
				𝑢
			

			
				2
				𝑘
			

			
				
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑢
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑣
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑥
			

			
				𝑘
				+
				1
			

			
				=
				𝑧
			

			

				𝑘
			

			
				−
				
				1
			

			
				
			
			
				1
				−
				𝑠
			

			

				𝑘
			

			
				
				×
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑧
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				
				
				𝑤
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				,
				𝑧
			

			

				𝑘
			

			
				𝑧
				
				
			

			

				𝑘
			

			
				−
				𝑦
			

			

				𝑘
			

			
				
				,
				𝑠
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				.
			

		
	

Concrete method 3:
						
	
 		
 			
				(
				2
				5
				)
			
 		
	

	
		
			

				𝑦
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑥
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑤
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				+
				𝛽
			

			

				𝑘
			

			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑧
			

			

				𝑘
			

			
				=
				𝑦
			

			

				𝑘
			

			
				−
				
				1
				+
				𝑢
			

			

				𝑘
			

			
				+
				2
				𝑢
			

			

				𝑘
			

			

				𝑣
			

			

				𝑘
			

			
				+
				𝑢
			

			
				2
				𝑘
			

			
				
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑢
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑣
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑥
			

			
				𝑘
				+
				1
			

			
				=
				𝑧
			

			

				𝑘
			

			
				−
				
				1
				+
				𝑠
			

			

				𝑘
			

			
				
				×
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑧
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				
				
				𝑤
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				,
				𝑧
			

			

				𝑘
			

			
				𝑧
				
				
			

			

				𝑘
			

			
				−
				𝑦
			

			

				𝑘
			

			
				
				,
				𝑠
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				.
			

		
	

Concrete method 4:
						
	
 		
 			
				(
				2
				6
				)
			
 		
	

	
		
			

				𝑦
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑥
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑤
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				+
				𝛽
			

			

				𝑘
			

			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑧
			

			

				𝑘
			

			
				=
				𝑦
			

			

				𝑘
			

			
				−
				
				1
				+
				𝑢
			

			

				𝑘
			

			
				+
				2
				𝑢
			

			

				𝑘
			

			

				𝑣
			

			

				𝑘
			

			
				+
				𝑢
			

			
				2
				𝑘
			

			
				
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑢
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑣
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑥
			

			
				𝑘
				+
				1
			

			
				=
				𝑧
			

			

				𝑘
			

			
				−
				(
				𝑒
			

			

				𝑠
			

			

				𝑘
			

			
				)
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑧
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				
				
				𝑤
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				,
				𝑧
			

			

				𝑘
			

			
				𝑧
				
				
			

			

				𝑘
			

			
				−
				𝑦
			

			

				𝑘
			

			
				
				,
				𝑠
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				.
			

		
	

Concrete method 5:
						
	
 		
 			
				(
				2
				7
				)
			
 		
	

	
		
			

				𝑦
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑥
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑤
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				+
				𝛽
			

			

				𝑘
			

			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑧
			

			

				𝑘
			

			
				=
				𝑦
			

			

				𝑘
			

			
				−
				
				1
			

			
				
			
			
				1
				−
				𝑢
			

			

				𝑘
			

			
				−
				2
				𝑢
			

			

				𝑘
			

			

				𝑣
			

			

				𝑘
			

			
				
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑢
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑣
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑥
			

			
				𝑘
				+
				1
			

			
				=
				𝑧
			

			

				𝑘
			

			
				−
				
				
				𝑠
				c
				o
				s
			

			

				𝑘
			

			
				
				
				𝑠
				+
				s
				i
				n
			

			

				𝑘
			

			
				×
				𝑓
				
				𝑧
				
				
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑧
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				
				
				𝑤
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				,
				𝑧
			

			

				𝑘
			

			
				𝑧
				
				
			

			

				𝑘
			

			
				−
				𝑦
			

			

				𝑘
			

			
				
				𝑠
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				.
			

		
	

Concrete method 6:
						
	
 		
 			
				(
				2
				8
				)
			
 		
	

	
		
			

				𝑦
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑥
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑤
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				+
				𝛽
			

			

				𝑘
			

			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑧
			

			

				𝑘
			

			
				=
				𝑦
			

			

				𝑘
			

			
				−
				
				1
			

			
				
			
			
				1
				−
				𝑢
			

			

				𝑘
			

			
				−
				2
				𝑢
			

			

				𝑘
			

			

				𝑣
			

			

				𝑘
			

			
				
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑢
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑣
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑥
			

			
				𝑘
				+
				1
			

			
				=
				𝑧
			

			

				𝑘
			

			
				−
				
				1
			

			
				
			
			
				1
				−
				𝑠
			

			

				𝑘
			

			
				
				×
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑧
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				
				
				𝑤
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				,
				𝑧
			

			

				𝑘
			

			
				𝑧
				
				
			

			

				𝑘
			

			
				−
				𝑦
			

			

				𝑘
			

			
				
				,
				𝑤
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				.
			

		
	

Concrete method 7:
						
	
 		
 			
				(
				2
				9
				)
			
 		
	

	
		
			

				𝑦
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑥
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑤
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				+
				𝛽
			

			

				𝑘
			

			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑧
			

			

				𝑘
			

			
				=
				𝑦
			

			

				𝑘
			

			
				−
				
				1
			

			
				
			
			
				1
				−
				𝑢
			

			

				𝑘
			

			
				−
				2
				𝑢
			

			

				𝑘
			

			

				𝑣
			

			

				𝑘
			

			
				
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑢
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑣
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑥
			

			
				𝑘
				+
				1
			

			
				=
				𝑧
			

			

				𝑘
			

			
				−
				
				1
				+
				𝑠
			

			

				𝑘
			

			
				
				×
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑧
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				
				
				𝑤
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				,
				𝑧
			

			

				𝑘
			

			
				𝑧
				
				
			

			

				𝑘
			

			
				−
				𝑦
			

			

				𝑘
			

			
				
				,
				𝑤
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				.
			

		
	

Concrete method 8:
						
	
 		
 			
				(
				3
				0
				)
			
 		
	

	
		
			

				𝑦
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑥
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑤
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				+
				𝛽
			

			

				𝑘
			

			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑧
			

			

				𝑘
			

			
				=
				𝑦
			

			

				𝑘
			

			
				−
				
				1
			

			
				
			
			
				1
				−
				𝑢
			

			

				𝑘
			

			
				−
				2
				𝑢
			

			

				𝑘
			

			

				𝑣
			

			

				𝑘
			

			
				
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑢
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑣
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑥
			

			
				𝑘
				+
				1
			

			
				=
				𝑧
			

			

				𝑘
			

			
				−
				(
				𝑒
			

			

				𝑠
			

			

				𝑘
			

			
				)
				×
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑧
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				
				
				𝑤
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				,
				𝑧
			

			

				𝑘
			

			
				𝑧
				
				
			

			

				𝑘
			

			
				−
				𝑦
			

			

				𝑘
			

			
				
				,
				𝑤
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				.
			

		
	

Several iterative methods (IM) of optimal order eight, which also require four function evaluations, for comparisons with our proposed methods have been chosen.
Three-step method by Wang et al. [8]:
						
	
 		
 			
				(
				3
				1
				)
			
 		
	

	
		
			

				𝑦
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑥
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑤
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				
				𝑥
				+
				𝛽
				𝑓
			

			

				𝑘
			

			
				
				,
				𝑧
			

			

				𝑘
			

			
				=
				𝑦
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				𝐻
				
				𝑡
			

			

				𝑘
			

			
				
				,
				𝑡
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑥
			

			
				𝑘
				+
				1
			

			
				=
				𝑧
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑧
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				𝐺
				
				𝑡
			

			

				𝑘
			

			
				,
				𝑠
			

			

				𝑘
			

			
				
				,
				𝑠
			

			

				𝑘
			

			
				=
				𝑓
				
				𝑧
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				
				,
			

		
	


        where functions 
	
		
			

				𝐻
			

		
	
 and 
	
		
			

				𝐺
			

		
	
 are following 
	
		
			

				𝐻
			

			

				1
			

			
				(
				𝑡
				)
				=
				1
				+
				𝑡
			

		
	
, 
	
		
			

				𝐺
			

			

				1
			

			
				(
				𝑡
				,
				𝑠
				)
				=
				1
				+
				𝑡
				+
				𝑠
				+
				2
				𝑡
				𝑠
				−
				(
				1
				+
				𝜆
				)
				𝑡
			

			

				3
			

		
	
, and  
	
		
			
				𝜆
				=
				1
				/
				(
				1
				+
				𝛽
				𝑓
				[
				𝑥
				,
				𝑤
				]
				)
			

		
	
.
Three-step method by Lotfi and Tavakoli [9]:
						
	
 		
 			
				(
				3
				2
				)
			
 		
	

	
		
			

				𝑦
			

			

				𝑛
			

			
				=
				𝑥
			

			

				𝑛
			

			
				−
				𝑓
				
				𝑥
			

			

				𝑛
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑛
			

			
				,
				𝑤
			

			

				𝑛
			

			
				
				,
				𝑧
			

			

				𝑛
			

			
				=
				𝑦
			

			

				𝑛
			

			
				
				𝑡
				−
				𝐻
			

			

				𝑛
			

			
				,
				𝑢
			

			

				𝑛
			

			
				
				𝑓
				
				𝑦
			

			

				𝑛
			

			

				
			

			
				
			
			
				𝑓
				
				𝑦
			

			

				𝑛
			

			
				,
				𝑤
			

			

				𝑛
			

			
				
				,
				𝑡
			

			

				𝑛
			

			
				=
				𝑓
				(
				𝑦
				)
			

			
				
			
			
				,
				𝑢
				𝑓
				(
				𝑥
				)
			

			

				𝑛
			

			
				=
				𝑓
				(
				𝑤
				)
			

			
				
			
			
				,
				𝑥
				𝑓
				(
				𝑥
				)
			

			
				𝑘
				+
				1
			

			
				=
				𝑧
			

			

				𝑛
			

			
				
				𝑡
				−
				𝐺
			

			

				𝑛
			

			
				,
				𝑠
			

			

				𝑛
			

			
				
				𝑊
				
				𝑣
			

			

				𝑛
			

			
				,
				𝑠
			

			

				𝑛
			

			
				
				𝑓
				
				𝑧
			

			

				𝑛
			

			

				
			

			
				
			
			
				𝑓
				
				𝑧
			

			

				𝑛
			

			
				,
				𝑤
			

			

				𝑛
			

			
				
				,
				𝑠
			

			

				𝑛
			

			
				=
				𝑓
				(
				𝑧
				)
			

			
				
			
			
				𝑓
				(
				𝑦
				)
				,
				𝑣
			

			

				𝑛
			

			
				=
				𝑓
				(
				𝑧
				)
			

			
				
			
			
				,
				𝑓
				(
				𝑥
				)
			

		
	


        where
						
	
 		
 			
				(
				3
				3
				)
			
 		
	

	
		
			
				𝑊
				
				𝑠
			

			

				𝑛
			

			
				,
				𝑣
			

			

				𝑛
			

			
				
				=
				1
				+
				𝑠
			

			
				2
				𝑛
			

			
				+
				𝑣
			

			
				2
				𝑛
			

			
				,
				𝐺
				
				𝑡
			

			

				𝑛
			

			
				,
				𝑠
			

			

				𝑛
			

			
				
				=
				1
				+
				𝑡
			

			

				𝑛
			

			
				+
				𝑠
			

			

				𝑛
			

			
				+
				2
				𝑡
			

			

				𝑛
			

			

				𝑠
			

			

				𝑛
			

			
				+
				
				−
				1
				−
				𝜙
			

			

				𝑛
			

			
				
				𝑡
			

			
				3
				𝑛
			

			
				,
				
				𝜙
			

			

				𝑛
			

			
				=
				1
			

			
				
			
			
				1
				+
				𝛽
			

			

				𝑛
			

			
				𝑓
				
				𝑥
			

			

				𝑛
			

			
				,
				𝑤
			

			

				𝑛
			

			
				
				
				,
				𝐻
				
				𝑡
			

			

				𝑛
			

			
				,
				𝑢
			

			

				𝑛
			

			
				
				=
				1
				+
				𝑡
			

			

				𝑛
			

			

				.
			

		
	

Derivative-free Kung-Traub’s family [2]:
						
	
 		
 			
				(
				3
				4
				)
			
 		
	

	
		
			

				𝑦
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑥
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑤
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				
				𝑥
				+
				𝛽
				𝑓
			

			

				𝑘
			

			
				
				,
				𝑧
			

			

				𝑘
			

			
				=
				𝑦
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				
				𝑓
				
				𝑤
			

			

				𝑘
			

			

				
			

			
				
			
			
				
				𝑓
				
				𝑤
			

			

				𝑘
			

			
				
				
				𝑦
				−
				𝑓
			

			

				𝑘
			

			
				𝑓
				
				𝑥
				
				
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				
				,
				𝑥
			

			
				𝑘
				+
				1
			

			
				=
				𝑧
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				
				𝑓
				
				𝑤
			

			

				𝑘
			

			
				𝑦
				
				
			

			

				𝑘
			

			
				−
				𝑥
			

			

				𝑘
			

			
				
				𝑥
				+
				𝑓
			

			

				𝑘
			

			
				
				
				𝑥
				/
				𝑓
			

			

				𝑘
			

			
				,
				𝑧
			

			

				𝑘
			

			
				
				
			

			
				
			
			
				
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				
				
				𝑧
				−
				𝑓
			

			

				𝑘
			

			
				𝑓
				
				𝑤
				
				
				
			

			

				𝑘
			

			
				
				
				𝑧
				−
				𝑓
			

			

				𝑘
			

			
				+
				𝑓
				
				𝑦
				
				
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				,
				𝑧
			

			

				𝑘
			

			
				
				.
			

		
	

Three-step methods made by Zheng et al. [10]:
						
	
 		
 			
				(
				3
				5
				)
			
 		
	

	
		
			

				𝑦
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑥
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑥
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				,
				𝑤
			

			

				𝑘
			

			
				=
				𝑥
			

			

				𝑘
			

			
				
				𝑥
				+
				𝛽
				𝑓
			

			

				𝑘
			

			
				
				,
				𝑧
			

			

				𝑘
			

			
				=
				𝑦
			

			

				𝑘
			

			
				−
				𝑓
				
				𝑦
			

			

				𝑘
			

			

				
			

			
				
			
			
				𝑓
				
				𝑦
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				
				
				𝑦
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑥
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				𝑦
				
				
			

			

				𝑘
			

			
				−
				𝑥
			

			

				𝑘
			

			
				
				,
				𝑥
			

			
				𝑘
				+
				1
			

			
				=
				𝑧
			

			

				𝑘
			

			
				−
				
				𝑓
				
				𝑧
			

			

				𝑘
			

			
				
				×
				
				𝑓
				
				𝑧
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				
				
				𝑧
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				,
				𝑥
			

			

				𝑘
			

			
				𝑧
				
				
			

			

				𝑘
			

			
				−
				𝑦
			

			

				𝑘
			

			
				
				
				𝑧
				+
				𝑓
			

			

				𝑘
			

			
				,
				𝑦
			

			

				𝑘
			

			
				,
				𝑥
			

			

				𝑘
			

			
				,
				𝑤
			

			

				𝑘
			

			
				𝑧
				
				
			

			

				𝑘
			

			
				−
				𝑦
			

			

				𝑘
			

			
				
				×
				
				𝑧
			

			

				𝑘
			

			
				−
				𝑥
			

			

				𝑘
			

			
				
				
			

			
				−
				1
			

			
				
				.
			

		
	

In Tables 1, 3, and 5 our without memory proposed method by different weight functions (23)–(30) has been compared with optimal three-point methods (34) and (35), and we observe that all these methods behave very well practically and confirm their theoretical results.
Table 1: Consider 
	
		
			

				𝑓
			

			

				1
			

			
				(
				𝑥
				)
				=
				s
				i
				n
				(
				𝜋
				𝑥
				)
				𝑒
			

			
				(
				𝑥
			

			

				2
			

			
				+
				𝑥
				c
				o
				s
				(
				𝑥
				)
				−
				1
				)
			

			
				+
				𝑥
				l
				o
				g
				(
				𝑥
				s
				i
				n
				(
				𝑥
				)
				+
				1
				)
			

		
	
, 
	
		
			
				𝛼
				=
				0
			

		
	
, 
	
		
			

				𝑥
			

			

				0
			

			
				=
				0
				.
				6
			

		
	
, 
	
		
			
				𝛽
				=
				−
				0
				.
				0
				1
			

		
	
.
	

	Methods without memory	
	
		
			
				|
				𝑥
			

			

				1
			

			
				−
				𝛼
				|
			

		
	
	
	
		
			
				|
				𝑥
			

			

				2
			

			
				−
				𝛼
				|
			

		
	
	
	
		
			
				|
				𝑥
			

			

				3
			

			
				−
				𝛼
				|
			

		
	
	 coc 
	

	  Our method (23) 	
	
		
			
				5
				.
				3
				8
				1
				0
				(
				−
				3
				)
			

		
	
	
	
		
			
				5
				.
				5
				3
				9
				2
				(
				−
				2
				5
				)
			

		
	
	
	
		
			
				6
				.
				9
				0
				9
				1
				(
				−
				2
				0
				1
				)
			

		
	
	 8.0003 
	 Our method (24) 	
	
		
			
				2
				.
				1
				8
				0
				2
				(
				−
				3
				)
			

		
	
	
	
		
			
				3
				.
				9
				9
				7
				3
				(
				−
				2
				8
				)
			

		
	
	
	
		
			
				5
				.
				0
				8
				1
				6
				(
				−
				2
				2
				6
				)
			

		
	
	 8.0001 
	 Our method (25) 	
	
		
			
				4
				.
				2
				8
				6
				5
				(
				−
				3
				)
			

		
	
	
	
		
			
				8
				.
				9
				6
				1
				2
				(
				−
				2
				6
				)
			

		
	
	
	
		
			
				3
				.
				2
				4
				2
				0
				(
				−
				2
				0
				7
				)
			

		
	
	 8.0002 
	 Our method (26) 	
	
		
			
				3
				.
				1
				9
				1
				2
				(
				−
				3
				)
			

		
	
	
	
		
			
				8
				.
				4
				3
				8
				4
				(
				−
				2
				7
				)
			

		
	
	
	
		
			
				2
				.
				0
				0
				4
				2
				(
				−
				2
				1
				5
				)
			

		
	
	 8.0002 
	 Our method (27) 	
	
		
			
				5
				.
				7
				0
				3
				0
				(
				−
				3
				)
			

		
	
	
	
		
			
				4
				.
				9
				6
				2
				5
				(
				−
				2
				5
				)
			

		
	
	
	
		
			
				1
				.
				6
				2
				0
				3
				(
				−
				2
				0
				1
				)
			

		
	
	 8.0002 
	 Our method (28) 	
	
		
			
				2
				.
				3
				2
				9
				3
				(
				−
				3
				)
			

		
	
	
	
		
			
				3
				.
				8
				2
				7
				8
				(
				−
				2
				8
				)
			

		
	
	
	
		
			
				2
				.
				0
				3
				0
				4
				(
				−
				2
				2
				6
				)
			

		
	
	 8.0001 
	 Our method (29) 	
	
		
			
				5
				.
				7
				0
				3
				0
				(
				−
				3
				)
			

		
	
	
	
		
			
				4
				.
				9
				6
				2
				5
				(
				−
				2
				5
				)
			

		
	
	
	
		
			
				1
				.
				6
				2
				0
				3
				(
				−
				2
				0
				1
				)
			

		
	
	 8.0002 
	 Our method (30) 	
	
		
			
				4
				.
				5
				4
				8
				8
				(
				−
				3
				)
			

		
	
	
	
		
			
				8
				.
				1
				1
				8
				6
				(
				−
				2
				6
				)
			

		
	
	
	
		
			
				8
				.
				3
				1
				4
				9
				(
				−
				2
				0
				8
				)
			

		
	
	 8.0002 
	 (34), 
	
		
			
				𝛽
				=
				−
				0
				.
				0
				1
			

		
	
	
	
		
			
				9
				.
				7
				7
				3
				2
				(
				−
				3
				)
			

		
	
	
	
		
			
				4
				.
				3
				5
				4
				3
				(
				−
				2
				4
				)
			

		
	
	
	
		
			
				6
				.
				6
				3
				1
				7
				(
				−
				1
				9
				5
				)
			

		
	
	 8.0002 
	(35), 
	
		
			
				𝛽
				=
				−
				0
				.
				0
				1
			

		
	
	
	
		
			
				1
				.
				7
				3
				4
				2
				(
				−
				2
				)
			

		
	
	
	
		
			
				1
				.
				1
				7
				2
				4
				(
				−
				2
				1
				)
			

		
	
	
	
		
			
				3
				.
				5
				6
				9
				2
				(
				−
				1
				7
				5
				)
			

		
	
	 8.0085 
	



Also Tables 2, 4, and 6 present numerical results for our with memory classes (23)–(30). It is also clear that all these methods behave very well practically and confirm their relevant theories. They all provide wherea bout twelve of convergence order.
Table 2: Consider 
	
		
			

				𝑓
			

			

				1
			

			
				(
				𝑥
				)
				=
				s
				i
				n
				(
				𝜋
				𝑥
				)
				𝑒
			

			
				(
				𝑥
			

			

				2
			

			
				+
				𝑥
				c
				o
				s
				(
				𝑥
				)
				−
				1
				)
			

			
				+
				𝑥
				l
				o
				g
				(
				𝑥
				s
				i
				n
				(
				𝑥
				)
				+
				1
				)
			

		
	
, 
	
		
			
				𝛼
				=
				0
			

		
	
, 
	
		
			

				𝑥
			

			

				0
			

			
				=
				0
				.
				6
			

		
	
, 
	
		
			

				𝛽
			

			

				0
			

			
				=
				−
				0
				.
				0
				1
			

		
	
.
	

	Methods with memory	
	
		
			
				|
				𝑥
			

			

				1
			

			
				−
				𝛼
				|
			

		
	
	
	
		
			
				|
				𝑥
			

			

				2
			

			
				−
				𝛼
				|
			

		
	
	
	
		
			
				|
				𝑥
			

			

				3
			

			
				−
				𝛼
				|
			

		
	
	 coc 
	

	 Our method (23) 	
	
		
			
				5
				.
				3
				8
				1
				0
				(
				−
				3
				)
			

		
	
	
	
		
			
				2
				.
				7
				7
				8
				8
				(
				−
				3
				5
				)
			

		
	
	
	
		
			
				1
				.
				8
				6
				6
				8
				(
				−
				4
				2
				6
				)
			

		
	
	 12.1156
	 Our method (24) 	
	
		
			
				2
				.
				1
				8
				0
				2
				(
				−
				3
				)
			

		
	
	
	
		
			
				3
				.
				0
				3
				3
				6
				(
				−
				3
				8
				)
			

		
	
	
	
		
			
				5
				.
				3
				4
				6
				9
				(
				−
				4
				6
				2
				)
			

		
	
	12.1571
	 Our method (25) 	
	
		
			
				4
				.
				2
				8
				6
				5
				(
				−
				3
				)
			

		
	
	
	
		
			
				5
				.
				2
				0
				4
				1
				(
				−
				3
				6
				)
			

		
	
	
	
		
			
				3
				.
				4
				7
				3
				9
				(
				−
				4
				3
				5
				)
			

		
	
	12.1273
	 Our method (26) 	
	
		
			
				3
				.
				1
				9
				1
				2
				(
				−
				3
				)
			

		
	
	
	
		
			
				5
				.
				6
				4
				4
				5
				(
				−
				3
				7
				)
			

		
	
	
	
		
			
				9
				.
				2
				0
				6
				5
				(
				−
				4
				4
				7
				)
			

		
	
	12.1411
	 Our method (27) 	
	
		
			
				5
				.
				7
				0
				3
				0
				(
				−
				3
				)
			

		
	
	
	
		
			
				4
				.
				6
				1
				3
				8
				(
				−
				3
				5
				)
			

		
	
	
	
		
			
				8
				.
				1
				5
				9
				1
				(
				−
				4
				2
				4
				)
			

		
	
	 12.1138 
	 Our method (28) 	
	
		
			
				2
				.
				3
				2
				9
				3
				(
				−
				3
				)
			

		
	
	
	
		
			
				5
				.
				4
				5
				8
				0
				(
				−
				3
				8
				)
			

		
	
	
	
		
			
				6
				.
				1
				2
				2
				8
				(
				−
				4
				5
				9
				)
			

		
	
	12.1556
	 Our method (29) 	
	
		
			
				4
				.
				5
				4
				8
				8
				(
				−
				3
				)
			

		
	
	
	
		
			
				8
				.
				7
				8
				2
				8
				(
				−
				3
				6
				)
			

		
	
	
	
		
			
				1
				.
				8
				4
				6
				7
				(
				−
				4
				3
				2
				)
			

		
	
	 12.1256 
	 Our method (30) 	
	
		
			
				3
				.
				3
				9
				3
				9
				(
				−
				3
				)
			

		
	
	
	
		
			
				9
				.
				7
				4
				7
				0
				(
				−
				3
				7
				)
			

		
	
	
	
		
			
				6
				.
				4
				4
				3
				8
				(
				−
				4
				4
				4
				)
			

		
	
	 12.1395 
	 (31), 
	
		
			
				𝛽
				=
				−
				1
			

		
	
	
	
		
			
				2
				.
				1
				1
				7
				0
				(
				−
				3
				)
			

		
	
	
	
		
			
				1
				.
				1
				0
				7
				7
				(
				−
				4
				1
				)
			

		
	
	
	
		
			
				3
				.
				4
				4
				0
				7
				(
				−
				5
				0
				1
				)
			

		
	
	 12.0035 
	 (32), 
	
		
			
				𝛽
				=
				−
				1
			

		
	
	
	
		
			
				5
				.
				7
				5
				7
				8
				(
				−
				3
				)
			

		
	
	
	
		
			
				2
				.
				7
				1
				2
				5
				(
				−
				3
				9
				)
			

		
	
	
	
		
			
				1
				.
				4
				8
				5
				9
				(
				−
				4
				7
				4
				)
			

		
	
	 11.9819 
	



Table 3: Consider 
	
		
			

				𝑓
			

			

				2
			

			
				(
				𝑥
				)
				=
				𝑒
			

			
				−
				5
				𝑥
			

			
				(
				𝑥
				−
				2
				)
				(
				𝑥
			

			
				1
				0
			

			
				+
				𝑥
				+
				2
				)
				,
				𝛼
				=
				2
				,
				𝑥
			

			

				0
			

			
				=
				2
				.
				2
				,
				𝛽
				=
				−
				1
			

		
	
.
	

	Methods without memory	
	
		
			
				|
				𝑥
			

			

				1
			

			
				−
				𝛼
				|
			

		
	
	
	
		
			
				|
				𝑥
			

			

				2
			

			
				−
				𝛼
				|
			

		
	
	
	
		
			
				|
				𝑥
			

			

				3
			

			
				−
				𝛼
				|
			

		
	
	 coc 
	

	 Our method (23) 	
	
		
			
				5
				.
				4
				2
				1
				1
				(
				−
				6
				)
			

		
	
	
	
		
			
				7
				.
				6
				3
				2
				1
				(
				−
				5
				4
				)
			

		
	
	
	
		
			
				1
				.
				1
				7
				7
				6
				(
				−
				4
				3
				6
				)
			

		
	
	 8.0000 
	 Our method (24)	
	
		
			
				5
				.
				4
				9
				8
				1
				(
				−
				6
				)
			

		
	
	
	
		
			
				8
				.
				5
				4
				2
				9
				(
				−
				5
				4
				)
			

		
	
	
	
		
			
				2
				.
				9
				0
				2
				0
				(
				−
				4
				3
				6
				)
			

		
	
	 8.0000 
	 Our method (25) 	
	
		
			
				5
				.
				4
				4
				6
				8
				(
				−
				6
				)
			

		
	
	
	
		
			
				7
				.
				9
				2
				6
				1
				(
				−
				5
				4
				)
			

		
	
	
	
		
			
				1
				.
				5
				9
				3
				5
				(
				−
				4
				3
				6
				)
			

		
	
	 8.0001 
	 Our method (26) 	
	
		
			
				5
				.
				4
				7
				2
				5
				(
				−
				6
				)
			

		
	
	
	
		
			
				8
				.
				2
				3
				0
				1
				(
				−
				5
				4
				)
			

		
	
	
	
		
			
				2
				.
				1
				5
				3
				3
				(
				−
				4
				3
				6
				)
			

		
	
	 8.0000 
	 Our method (27) 	
	
		
			
				3
				.
				2
				6
				0
				6
				(
				−
				6
				)
			

		
	
	
	
		
			
				1
				.
				3
				0
				7
				0
				(
				−
				5
				5
				)
			

		
	
	
	
		
			
				8
				.
				7
				1
				2
				5
				(
				−
				4
				5
				1
				)
			

		
	
	 8.0000 
	 Our method (28) 	
	
		
			
				3
				.
				3
				7
				5
				7
				(
				−
				6
				)
			

		
	
	
	
		
			
				1
				.
				7
				2
				4
				9
				(
				−
				5
				5
				)
			

		
	
	
	
		
			
				8
				.
				0
				1
				5
				3
				(
				−
				4
				5
				0
				)
			

		
	
	 8.0000 
	 Our method (29) 	
	
		
			
				3
				.
				2
				9
				9
				1
				(
				−
				6
				)
			

		
	
	
	
		
			
				1
				.
				4
				3
				5
				4
				(
				−
				5
				5
				)
			

		
	
	
	
		
			
				1
				.
				8
				4
				3
				4
				(
				−
				4
				5
				0
				)
			

		
	
	 8.0000 
	 Our method (30) 	
	
		
			
				3
				.
				3
				3
				7
				5
				(
				−
				6
				)
			

		
	
	
	
		
			
				1
				.
				5
				7
				4
				7
				(
				−
				5
				5
				)
			

		
	
	
	
		
			
				3
				.
				8
				6
				6
				6
				(
				−
				4
				5
				0
				)
			

		
	
	 8.0000 
	 (34), 
	
		
			
				𝛽
				=
				−
				1
			

		
	
	
	
		
			
				8
				.
				0
				5
				5
				2
				(
				−
				6
				)
			

		
	
	
	
		
			
				1
				.
				4
				1
				3
				1
				(
				−
				5
				2
				)
			

		
	
	
	
		
			
				1
				.
				2
				6
				7
				7
				(
				−
				4
				5
				6
				)
			

		
	
	 8.0000 
	 (35), 
	
		
			
				𝛽
				=
				−
				0
				.
				0
				1
			

		
	
	
	
		
			
				3
				.
				9
				4
				5
				3
				(
				−
				6
				)
			

		
	
	
	
		
			
				1
				.
				2
				7
				0
				5
				(
				−
				5
				9
				)
			

		
	
	
	
		
			
				5
				.
				0
				0
				2
				1
				(
				−
				4
				9
				1
				)
			

		
	
	 8.0085 
	



Table 4: Consider 
	
		
			

				𝑓
			

			

				2
			

			
				(
				𝑥
				)
				=
				𝑒
			

			
				−
				5
				𝑥
			

			
				(
				𝑥
				−
				2
				)
				(
				𝑥
			

			
				1
				0
			

			
				+
				𝑥
				+
				2
				)
				,
				𝛼
				=
				2
				,
				𝑥
			

			

				0
			

			
				=
				2
				.
				2
				,
				𝛽
			

			

				0
			

			
				=
				−
				1
			

		
	
.
	

	  Methods with memory	
	
		
			
				|
				𝑥
			

			

				1
			

			
				−
				𝛼
				|
			

		
	
	
	
		
			
				|
				𝑥
			

			

				2
			

			
				−
				𝛼
				|
			

		
	
	
	
		
			
				|
				𝑥
			

			

				3
			

			
				−
				𝛼
				|
			

		
	
	 coc 
	

	 Our method (23) 	
	
		
			
				5
				.
				4
				2
				1
				1
				(
				−
				6
				)
			

		
	
	
	
		
			
				2
				.
				1
				8
				5
				7
				(
				−
				8
				0
				)
			

		
	
	
	
		
			
				4
				.
				4
				9
				1
				1
				(
				−
				9
				7
				0
				)
			

		
	
	 11.9590
	 Our method (24) 	
	
		
			
				5
				.
				4
				9
				8
				1
				(
				−
				6
				)
			

		
	
	
	
		
			
				2
				.
				4
				5
				2
				9
				(
				−
				8
				0
				)
			

		
	
	
	
		
			
				1
				.
				7
				9
				3
				1
				(
				−
				9
				6
				9
				)
			

		
	
	11.9587
	 Our method (25) 	
	
		
			
				5
				.
				4
				4
				6
				8
				(
				−
				6
				)
			

		
	
	
	
		
			
				2
				.
				2
				7
				1
				9
				(
				−
				8
				0
				)
			

		
	
	
	
		
			
				7
				.
				1
				4
				4
				3
				(
				−
				9
				7
				0
				)
			

		
	
	11.9589
	 Our method (26) 	
	
		
			
				5
				.
				4
				7
				2
				5
				(
				−
				6
				)
			

		
	
	
	
		
			
				2
				.
				3
				6
				1
				1
				(
				−
				8
				0
				)
			

		
	
	
	
		
			
				9
				.
				2
				0
				6
				5
				(
				−
				9
				6
				9
				)
			

		
	
	11.9588
	 Our method (27) 	
	
		
			
				5
				.
				4
				9
				8
				1
				(
				−
				6
				)
			

		
	
	
	
		
			
				2
				.
				4
				5
				2
				9
				(
				−
				8
				0
				)
			

		
	
	
	
		
			
				1
				.
				7
				9
				3
				1
				(
				−
				9
				6
				9
				)
			

		
	
	 11.9587 
	 Our method (28) 	
	
		
			
				3
				.
				3
				7
				5
				7
				(
				−
				6
				)
			

		
	
	
	
		
			
				7
				.
				7
				6
				2
				4
				(
				−
				8
				2
				)
			

		
	
	
	
		
			
				1
				.
				8
				0
				8
				4
				(
				−
				9
				8
				7
				)
			

		
	
	11.9732 
	 Our method (29)	
	
		
			
				3
				.
				2
				9
				9
				1
				(
				−
				6
				)
			

		
	
	
	
		
			
				6
				.
				4
				4
				4
				5
				(
				−
				8
				2
				)
			

		
	
	
	
		
			
				1
				.
				9
				3
				9
				3
				(
				−
				9
				8
				8
				)
			

		
	
	 11.9737 
	 Our method (30) 	
	
		
			
				3
				.
				3
				3
				7
				5
				(
				−
				6
				)
			

		
	
	
	
		
			
				7
				.
				0
				7
				8
				1
				(
				−
				8
				2
				)
			

		
	
	
	
		
			
				5
				.
				9
				7
				4
				8
				(
				−
				9
				8
				8
				)
			

		
	
	 11.9735 
	 (31), 
	
		
			
				𝛽
				=
				−
				1
			

		
	
	
	
		
			
				4
				.
				9
				4
				2
				5
				(
				−
				5
				)
			

		
	
	
	
		
			
				1
				.
				5
				2
				7
				5
				(
				−
				6
				9
				)
			

		
	
	
	
		
			
				4
				.
				1
				2
				5
				6
				(
				−
				8
				7
				4
				)
			

		
	
	 12.0535 
	 (32), 
	
		
			
				𝛽
				=
				−
				1
			

		
	
	
	
		
			
				4
				.
				0
				5
				1
				8
				(
				−
				6
				)
			

		
	
	
	
		
			
				8
				.
				2
				7
				3
				0
				(
				−
				7
				7
				)
			

		
	
	
	
		
			
				2
				.
				4
				2
				6
				7
				(
				−
				8
				6
				1
				)
			

		
	
	 11.0982 
	



Table 5: Consider 
	
		
			

				𝑓
			

			

				3
			

			
				(
				𝑥
				)
				=
				𝑒
			

			

				𝑥
			

			

				3
			

			
				−
				𝑥
			

			
				−
				c
				o
				s
				(
				𝑥
			

			

				2
			

			
				−
				1
				)
				+
				𝑥
			

			

				3
			

			
				+
				1
				,
				𝛼
				=
				−
				1
				,
				𝑥
			

			

				0
			

			
				=
				−
				1
				.
				6
				5
				,
				𝛽
				=
				−
				1
			

		
	
.
	

	  Methods without memory 	
	
		
			
				|
				𝑥
			

			

				1
			

			
				−
				𝛼
				|
			

		
	
	
	
		
			
				|
				𝑥
			

			

				2
			

			
				−
				𝛼
				|
			

		
	
	
	
		
			
				|
				𝑥
			

			

				3
			

			
				−
				𝛼
				|
			

		
	
	 coc 
	

	 Our method (23) 	
	
		
			
				6
				.
				0
				2
				5
				6
				(
				−
				3
				)
			

		
	
	
	
		
			
				4
				.
				0
				8
				9
				8
				(
				−
				2
				4
				)
			

		
	
	
	
		
			
				1
				.
				8
				2
				7
				2
				(
				−
				1
				9
				3
				)
			

		
	
	 8.0001 
	 Our method (24)	
	
		
			
				5
				.
				9
				7
				9
				7
				(
				−
				3
				)
			

		
	
	
	
		
			
				3
				.
				8
				4
				7
				1
				(
				−
				2
				4
				)
			

		
	
	
	
		
			
				1
				.
				1
				2
				0
				2
				(
				−
				1
				9
				3
				)
			

		
	
	 8.0001 
	 Our method (25) 	
	
		
			
				6
				.
				0
				1
				0
				4
				(
				−
				3
				)
			

		
	
	
	
		
			
				4
				.
				0
				0
				8
				1
				(
				−
				2
				4
				)
			

		
	
	
	
		
			
				1
				.
				5
				5
				4
				8
				(
				−
				1
				9
				3
				)
			

		
	
	 8.0001 
	 Our method (26) 	
	
		
			
				5
				.
				9
				9
				5
				2
				(
				−
				3
				)
			

		
	
	
	
		
			
				3
				.
				9
				2
				7
				8
				(
				−
				2
				4
				)
			

		
	
	
	
		
			
				1
				.
				3
				2
				2
				5
				(
				−
				1
				9
				3
				)
			

		
	
	 8.0001 
	 Our method (27) 	
	
		
			
				5
				.
				3
				6
				2
				8
				(
				−
				3
				)
			

		
	
	
	
		
			
				1
				.
				6
				0
				7
				1
				(
				−
				2
				4
				)
			

		
	
	
	
		
			
				1
				.
				0
				3
				8
				8
				(
				−
				1
				9
				6
				)
			

		
	
	 8.0001 
	 Our method (28) 	
	
		
			
				5
				.
				3
				3
				5
				7
				(
				−
				3
				)
			

		
	
	
	
		
			
				1
				.
				5
				4
				3
				1
				(
				−
				2
				4
				)
			

		
	
	
	
		
			
				7
				.
				5
				0
				4
				2
				(
				−
				1
				9
				7
				)
			

		
	
	 8.0001 
	 Our method (29) 	
	
		
			
				5
				.
				3
				5
				3
				7
				(
				−
				3
				)
			

		
	
	
	
		
			
				1
				.
				5
				8
				5
				6
				(
				−
				2
				4
				)
			

		
	
	
	
		
			
				9
				.
				3
				2
				9
				2
				(
				−
				1
				9
				7
				)
			

		
	
	 8.0001 
	 Our method (30) 	
	
		
			
				5
				.
				3
				4
				4
				8
				(
				−
				3
				)
			

		
	
	
	
		
			
				1
				.
				5
				6
				4
				4
				(
				−
				2
				4
				)
			

		
	
	
	
		
			
				8
				.
				3
				7
				6
				6
				(
				−
				1
				9
				7
				)
			

		
	
	 8.0001 
	 (34), 
	
		
			
				𝛽
				=
				−
				1
			

		
	
	
	
		
			
				2
				.
				9
				1
				5
				2
				(
				−
				4
				)
			

		
	
	
	
		
			
				5
				.
				3
				2
				3
				9
				(
				−
				3
				4
				)
			

		
	
	
	
		
			
				6
				.
				5
				8
				2
				7
				(
				−
				2
				7
				2
				)
			

		
	
	 8.0000 
	 (35), 
	
		
			
				𝛽
				=
				−
				0
				.
				0
				1
			

		
	
	
	
		
			
				6
				.
				4
				0
				3
				6
				(
				−
				5
				)
			

		
	
	
	
		
			
				4
				.
				4
				3
				3
				5
				(
				−
				4
				4
				)
			

		
	
	
	
		
			
				2
				.
				4
				4
				5
				7
				(
				−
				3
				5
				7
				)
			

		
	
	 7.9995 
	



Table 6: Consider 
	
		
			

				𝑓
			

			

				3
			

			
				(
				𝑥
				)
				=
				𝑒
			

			

				𝑥
			

			

				3
			

			
				−
				𝑥
			

			
				−
				c
				o
				s
				(
				𝑥
			

			

				2
			

			
				−
				1
				)
				+
				𝑥
			

			

				3
			

			
				+
				1
				,
				𝛼
				=
				−
				1
				,
				𝑥
			

			

				0
			

			
				=
				−
				1
				.
				6
				5
				,
				𝛽
			

			

				0
			

			
				=
				−
				1
			

		
	
.
	

	  Methods with memory 	
	
		
			
				|
				𝑥
			

			

				1
			

			
				−
				𝛼
				|
			

		
	
	
	
		
			
				|
				𝑥
			

			

				2
			

			
				−
				𝛼
				|
			

		
	
	
	
		
			
				|
				𝑥
			

			

				3
			

			
				−
				𝛼
				|
			

		
	
	 coc 
	

	  Our method (23) 	
	
		
			
				6
				.
				0
				2
				5
				6
				(
				−
				3
				)
			

		
	
	
	
		
			
				4
				.
				7
				2
				9
				4
				(
				−
				3
				8
				)
			

		
	
	
	
		
			
				3
				.
				8
				0
				6
				7
				(
				−
				4
				5
				9
				)
			

		
	
	 11.9952 
	 Our method (24) 	
	
		
			
				5
				.
				9
				7
				9
				7
				(
				−
				3
				)
			

		
	
	
	
		
			
				4
				.
				4
				3
				4
				5
				(
				−
				3
				8
				)
			

		
	
	
	
		
			
				1
				.
				7
				5
				8
				0
				(
				−
				4
				5
				9
				)
			

		
	
	11.9955 
	 Our method (25) 	
	
		
			
				6
				.
				0
				1
				0
				4
				(
				−
				3
				)
			

		
	
	
	
		
			
				4
				.
				6
				3
				0
				0
				(
				−
				3
				8
				)
			

		
	
	
	
		
			
				2
				.
				9
				5
				0
				2
				(
				−
				4
				5
				9
				)
			

		
	
	 11.9953 
	 Our method (26) 	
	
		
			
				5
				.
				9
				9
				5
				9
				(
				−
				3
				)
			

		
	
	
	
		
			
				4
				.
				5
				3
				2
				4
				(
				−
				3
				8
				)
			

		
	
	
	
		
			
				2
				.
				2
				8
				5
				0
				(
				−
				4
				5
				9
				)
			

		
	
	11.9954 
	 Our method (27) 	
	
		
			
				5
				.
				3
				6
				2
				8
				(
				−
				3
				)
			

		
	
	
	
		
			
				9
				.
				5
				4
				9
				7
				(
				−
				3
				9
				)
			

		
	
	
	
		
			
				1
				.
				7
				4
				2
				5
				(
				−
				4
				6
				7
				)
			

		
	
	11.9929 
	 Our method (28) 	
	
		
			
				5
				.
				3
				3
				5
				7
				(
				−
				3
				)
			

		
	
	
	
		
			
				9
				.
				1
				4
				8
				3
				(
				−
				3
				9
				)
			

		
	
	
	
		
			
				1
				.
				0
				4
				1
				0
				(
				−
				4
				6
				7
				)
			

		
	
	11.9931 
	 Our method (29) 	
	
		
			
				5
				.
				3
				5
				3
				8
				(
				−
				3
				)
			

		
	
	
	
		
			
				9
				.
				4
				1
				5
				1
				(
				−
				3
				9
				)
			

		
	
	
	
		
			
				1
				.
				4
				6
				9
				6
				(
				−
				4
				6
				7
				)
			

		
	
	 11.9929 
	 Our method (30) 	
	
		
			
				5
				.
				3
				4
				4
				8
				(
				−
				3
				)
			

		
	
	
	
		
			
				9
				.
				2
				8
				2
				1
				(
				−
				3
				9
				)
			

		
	
	
	
		
			
				1
				.
				2
				3
				9
				1
				(
				−
				4
				6
				7
				)
			

		
	
	11.9930 
	 (31), 
	
		
			
				𝛽
				=
				−
				1
			

		
	
	
	
		
			
				1
				.
				3
				0
				0
				0
				(
				−
				2
				)
			

		
	
	
	
		
			
				5
				.
				5
				2
				1
				4
				(
				−
				3
				3
				)
			

		
	
	
	
		
			
				1
				.
				2
				1
				1
				4
				(
				−
				4
				0
				1
				)
			

		
	
	 12.1381 
	 (32), 
	
		
			
				𝛽
				=
				−
				1
			

		
	
	
	
		
			
				1
				.
				0
				9
				3
				7
				(
				−
				2
				)
			

		
	
	
	
		
			
				3
				.
				5
				2
				2
				1
				(
				−
				3
				4
				)
			

		
	
	
	
		
			
				1
				.
				7
				1
				7
				4
				(
				−
				4
				1
				5
				)
			

		
	
	 12.1081 
	



5. Concluding Remarks
We have constructed a class of methods without and with memory. Our proposed methods do not need any derivative and therefore are applicable to nonsmooth functions too. Another advantage of the proposed methods is that their without memory versions are optimal in the sense of K-T conjecture. In addition, it contains an accelerator parameter which rises convergence order from eight to twelve without any new functional evaluations. In other words, the efficiency index of the with memory class is 
	
		
			
				1
				2
			

			
				1
				/
				4
			

			
				≈
				1
				.
				8
				6
				1
			

		
	
.
We finalize this work by suggesting some outlines for future research: first developing the proposed methods for computing multiple roots and second exploring its dynamic or basins of attractions, and finally we wonder why not to use an adaptive arithmetic in each step of the iterative method instead of using a fixed precision, since this higher precision is only necessary in the last step of the iterative process.
Conflict of Interests
The authors declare that there is no conflict of interests regarding the publication of this paper.
Acknowledgments
The first three authors thank Islamic Azad University, Hamedan Branch, for the financial support of the present research. Also, the authors would like to express their sincere appreciations to Dr. Soleymani and the respected referees for their constructive comments regarding improving this work.
References
	J. F. Traub, Iterative Methods for the Solution of Equations, Prentice-Hall, New York, NY, USA, 1964.
	H. T. Kung and J. F. Traub, “Optimal order of one-point and multipoint iteration,” Journal of the Association for Computing Machinery, vol. 21, pp. 643–651, 1974.
	S. Artidiello, A. Cordero, J. R. Torregrosa, and M. P. Vassileva, “Optimal high-order methods for solving nonlinear equations,” Journal of Applied Mathematics, vol. 2014, Article ID 591638, 9 pages, 2014.
	B. Ignatova, N. Kyurkchiev, and A. Iliev, “Multipoint algorithms arising from optimal in the sense of Kung-Traub iterative procedures for numerical solution of nonlinear equations,” General Mathematics Notes, vol. 6, pp. 45–79, 2011.
	N. Kyurkchiev and A. Iliev, “On some multipoint methods arising from optimal in the sense of Kung-Traub algorithms,” Biomath, vol. 2, no. 1, pp. 1–7, 2013.
	X. Wang and T. Zhang, “A new family of Newton-type iterative methods with and without memory for solving nonlinear equations,” Calcolo, vol. 51, no. 1, pp. 1–15, 2014.
	J. Herzberger, “Über Matrixdarstellungen für Iterationverfahren bei nichtlinearen Gleichungen,” Computing, vol. 12, no. 3, pp. 215–222, 1974.
	X. Wang, J. Džunić, and T. Zhang, “On an efficient family of derivative free three-point methods for solving nonlinear equations,” Applied Mathematics and Computation, vol. 219, no. 4, pp. 1749–1760, 2012.
	T. Lotfi and E. Tavakoli, “On a new efficient Steffensen-like iterative class by applying a suitable self-accelerator parameter,” The Scientific World Journal, vol. 2014, Article ID 769758, 9 pages, 2014.
	Q. Zheng, J. Li, and F. Huang, “An optimal Steffensen-type family for solving nonlinear equations,” Applied Mathematics and Computation, vol. 217, no. 23, pp. 9592–9597, 2011.


OEBPS/page-template.xpgt
 

   


     
	 
    

     
	 
    


     
	 
    


     
         
             
             
             
        
    

  





OEBPS/pageMap.xml
 
                                 
                                



OEBPS/Fonts/xits-italic.otf


OEBPS/Fonts/xits-bolditalic.otf


OEBPS/Fonts/xits-regular.otf


OEBPS/Fonts/xits-math.otf


